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Part-11
COMPUTER INFORMATION TECHNOLOGY

Maxlmum 60 Scores

. Time: 2 Hours
Cool-off time : 15 Minutes

/ General Instructions to candidates : ' | ) )
® There is a ‘cool-off time’ of 15 minutes in addition to the wntmg time of 2 hrs.

® You are not allowed to write your answers nor to discuss anything with others during
the *cool-off time’.

¢ Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

L J

When you select a question, all the sub-questions must be answered from the same
~question itself.

® (alculations, figures and graphs should be shown in the answer sheet 1tSelf
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
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1. As part of data collection your friends have collected sample printouts taken from Dot
matrix printer, Laser printer, Drum. printer, Chain printer, Inkjet printer and Thermal

Wax printer.

{a) Classify the above list of printers into impact printer and non- 1mpact printer
categories. : . (1)

(b} Write any two differences observed in Dot mamx printout and Laser printout. (1)

(¢) What technology is used in inkjet printers to produce printouts ? (3
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WIQ0 MBHMON 22T miEBEMs aV)anjaensd Dot Matrix printer, 'Lascr

“printer, Drum printer, Chain printer, Inkjet printer, Thermal wax printer afanlaiolcd

af)S}0W printout-éhud cuosdlajlgiens.

(a2} oagled eomlgies (ailado)smes Impact printer, Non-impact prmtcr a)on’]

(e i HBIW] DRIBI06) .

(b) Dot matrix printout-ene Laser print-eno d;bosmomgcm m{g@tgo(msamﬁ
aBO@®B1L0 AOMRENO nf)PIO)d:.

(c) Inkjet prmterm'a teNR” @argRon@I)  agfasy technology @26} 9aleouil-

DM ?
Match the following input devices with their most appropriate use. (2)
Input device : Use o
Bar code reader - Converts drawings into digital form
Mouse — . Takes input by pointing fingertips on the screen
Digitizer - Captures visual images
Touch Screen — Pointing device

Universal Product code

ooy oavlg)sa Input device-»oH8 FRAUVINS DaCRIVOMIMMITLEa] Gal@)oals]
CalBAD nfP}m)d. _ -
Input device Use

Bar code reader ~ drawings-om aelg@d Ganoalceidas aogmm)
Mouse ' - aflo@d screen-@3 o5 input ©algyam)
Digitizer — Captures visual images

Touch screen - Pointing device

- Universal product code

Some units of memory storage are given below. Re-arrange them in increasing order of
mMEemory capacity. (1)
20043 kB, 1.01 kB, 2084 bytes, 1.1 MB '

Memory storage-ea3 ailel @pemlgiéid @oee manldlemm). a@pusw mermory

capacity @rmyaualaj £210)@@8 Ml URNGICEI) a2 1®0l2] af)e)o)d:.
20043 kB, 1.01 kB, 2084 bytes, 1.1 MB

While comparing the access speeds of storage devices, it is found that optical disks are
slower than magnetic disks.

(a) Name the factors that determine the access time. 1))
(b) Give reasons for the speed difference of optical disks and magnetic disks based on
technology of reading and access methods. (5)

Storage device-s@jos access speed ®oemaye @a1T®eqdud optical disk- 3

magnetic AWlmid:):0800003 access speed &)OMMAKDINETNAT BHeENRBADI].

(a) Access time MIBERWIGOYNN LISHETBWRB nGOMLJI0 ?

(b) Data dleanodal eagM®IMo  access OalPIMO@IMe  Daleowlenym
technology-@)ps @pskronomamlad optical disk-&ayesw)o magnetic disk-
H@)OSW)o access speed A IITVO|SIMDIMIBS HOREMEBBUS )9O @:.
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5. CPU executes an instruction in different cycles.

(a) Give the names of cycles of execution. ' 1)
(b) List out the names of registers involved in instruction execution. 2)
{c) Write the different steps in the complete execution of an instr_uction. (3

CPU &) instruction-em ater cycle- o800 execute B algam).

(a) Execution cycle-@,3 agqu ? _ :

(b) soomlmow DalGWIUBO)OM register- ¢hud o ?

(¢} ®®) instruction aRdemacml execute eagmGImes  afailw 0QIS6ERUY
)91 . _ '

6. Read the following specification and answer the questions that follows,
Pentium 4, 2.4 GHz — 1 MB 1.1 cache -
512 MB DDR RAM - 8 x AGP - 80 GB
7200 rpm seagate HDD — 52x Sony CDD -
1.44 MB FDD - 1PP, 2SP, 2 PS/2, 4 USB -
15" SVGA Samsung Color — USB Keyboard -
Optical USB Mouse — 400 W SMPS.
(a) What details are given about processor and memory ? 2)
(b) Explain the details of ports and peripherals given in the specification. 3y

@oee oxmigas specification @] ARAID} CR/MMBS CalIBERWBSS DOmGo
) eI, '
Pentium 4, 2.4 GHz — 1 MB L1 cache -
512 MB DDR RAM - 8 x AGP - 80 GB
7200 rpm seagate HDD — 52x Sony CDD -
1.44 MB FDD - 1PP, 2SP, 2 PS/2, 4 USB -
15" SVGA Samsung Color - USB Keyboard -
Optical USB Mouse — 400 W SMPS. :
(a) Processor, memory LAUNDENOLa] om0 alluesmul m@BxI0Gg NS ?
(b) Specification-a3 @anlg)ss port-ses )0lafjo peripheral-:608 @)0lajje nas
ail1easd allvwele:0les)d:.

7. Consider the following table :

Table : Student

Code Name Mark

101 Arun 400

102 Preetha 450

103 Rajeev 465 _
(a) What type of data model is used to organize the above data ? (1)
(b) Explain the meaning of attribute and tuple using the above table. (2)
(¢} Give an example of a DBMS software which uses the above mode! and explain

merits of using DBMS. ;e
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ana1es caidoongyes Table aldlnenlon;d.

Table : Student
Code Name Mark
101 Arun - 400
102 Preetha 450
103 Rajeev . 465

(a) oa@gld oarlgies awogd organize 6 algan@ilm ng;m) data model @617
8alc@ouilafldleeymo) ?

(b) Attribute, Tuple of@I  OBHME ge@uo'lm;an@ ng)s)mmm Table-o@
MOaN2EEEmoes kel ale)s.

) oagld emlges data model-@3 (a3 EHION n@&@&1@30 60 DBMS
Software-0§ 9320060 af)@)il DBMS-oaf camdud allaicloe)d. '

8.  Consider the following structure definition :
struct stu

int roll, mark;
char name(20];
} SL
(a) How will you access the members of the above structure ? (1)
(b) Complete the program by initializing S1 and displaying its members. (2)

@oa® MANIgIes structure alIGlGUIWIEe k.
struct sfu

int roll, mark;
char name(20};
} S,
(a) meglsd eanlgss structure- o3 members-am af)sTBHM access oalgo 7

(b) SI apon variable-om initialize oaidiad  @RCloA members-om  (aflag
NalQIIN@IMBB GAlNI0 n)PIND.

9. int leap(year) - ' | @

if (year % 4==0&& year % 1001 =0 : : year % 400 = =0)
return 1; ' .
else
return O;
}
Write a program to accept a year and print whether or not it is a lcap year using the
above function.
" int leap{year)

0, ' year%400 0)

if (year % 4 == 0 && year % 100 ! =

return 1;

else

- returmn (;
}
a)dalad oanlges leap() agam function Dalewoula] &0} year accept 9a1F@ @O
leap year @Raamd af)at al@lGLIWISNM GlaidIda af) P }d:.
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10. Analyse the following program and find out any three object oriented features, Explain
their meanings from the program’s context. S o 3
Class Test .

{

| private : int code, price ;
public : Test()

: code = 100; price = 3000 ;
}
Test (int c, int p)

{

code=c;price=p;
}
void display( )
{
cout <c "Code : " << Code <<"Price : " << price ;

}
bs
void main( } .
{ Testa;
a.display( ) ;
}

®oae MBS  Cade  aidlewdwla] ogomeslege mary  object oriented
TUAIICURAMD BB OO . @RQIMDS @RWWO RO DD Gl WoaleTg
anslounomomol aflvuatealon)d.

Class Test

{

private : int code, price ;
public : Test()

code = 100; price = 3000 ;
Test (int ¢, int p)
{ code=c;price=p;
void}display( )

{
cout <¢ "Code : " << Code <<"Price : " << price ;

|
b :
void main( )
{ Testa;
- a.display() ;

11. Is it possible to access the private members of a class by a non-member function of the’

class ? Justify your answer. (2)
80) Qoqleel asailg member-sos goqlellgoom 2090w function-emosms
access algosao ? MlERAIOs PAMOO &HOVMAVAsIMe TVAG@LAEN)d.
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12.  The details of the class ‘STOCK’ is given below. Define a class with these details. 3)

Class : STOCK

Private data members
code
name
quantity
price

Public member functions
init( ) — to initialize data . :
purchase( ) — to make a purchase (add quantity)
sales( ) — to make a sales (less quantity)
display( ) - to display details.

‘STOCK” agyam groqilead ailves ailniesased anaes @mMidleam). oM oloivless
80} Hoqy define oalg)e. ' - S ' '

Class : STOCK
Private data members

code

name

quantity -

price
Public member functions

init( ) - to initialize data

purchase( ) - to' make a purchase (add quantity)

- sales( ) - to make a sales (less quantity)
display( ) - to display details.

13. The main( ) program segment of a particular program is given below ; -
void main{ )
{
cout << add (7, 5) ;
cout << add (2, 3, 8) ; -
~ cout << add (2.5,7.3);
}

()  What oop concept do you observe in the above program ? : _ (1)
(b) Write the prototype declaration for any two functions used in the program. - (1)
{c) Write the function definitions for the 3 add( ) functions. . 3
80} slawodloel main()ead 8ovoe Moo oarilgens.

void maind ) '

{

cout << add (7, 5) ;
cout << add (2, 3, 8) ;
cout << add (2.5, 7.3) ;
}
(a) Object oriented ClaDOEIHG af® (alCBIHM@IN oS @06l ajlal-
SNANE ¢
(b) agooelens eemd add() function-&@)6s prototype declaration af) P} .
{©)  add() apam caldlenss oy function-@@yo define aley)ds.

OR/ma%!am
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14. Consider the ‘distance’ class given below :
Class distance

{
inf m, cm;
public : _
_distance(int a, int b)
{

m=a,cm=Db;

}
void disp( )
{.

)

distance operator + (distance x)

{

cout << m << “metre” << cm << “‘cms”;

distance t; .
t.m=m+x.m + (cm + x.cm) /100;
t.cm =({cm + x.cm) % 100;
return t;

1
}s

(a) Write a main( ) program to initialize two distance 'objcct's and find their sum. 2)
(b) Implement the operator function using a friend function. )]

‘distance’ a)m Gaidlenes @Ine OAMIAIS)TD KO aIBlERIWIN .
Class distance

{
int m, cm;
public : .
distance(int a, int b)
{
m=a;,cm=b;
}
void disp( }
{
cout << m << “metre” << cm << “cms’’;
}
distance operator + (distance x)
{ _
distance t;
t.m =m + x.m + (cm + x.cm) /100;
t.em = (cm + x.cm) % 100;
~return t;
}
b

(a) oend ‘distance’.object-mes initialize eaid® @RI )23 @;gganmﬂmggg
main(}) Galo(Ndo af)PIoNd:.

(b) Operator function-em ) friend function alcWOWla] nf)P}®)d:.
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15. : Class : STAFF

Data
code (int)
name (char [20])
salary (int)

public private

Class : Teacher ' Class : Office

subject (char [20]) grade (char [10])

(a) Name the type of inheritance form given above. )
(b) Implement the above inheritance by defining classes STAFF, Teacher and Office. (4)

(a) oaglad eanlalenym mhentance form agooem ?

(b) STAFF, Teacher, Office agan? £oMH03 2)&gled eanlales)an inheritance
form-ad ag)w)@ MQO00Be)d:.

16. A flle named ‘A TXT’ can be opened for readmg as follows 1)
ifstrearn ﬁn (“ATXT");

How will you open the file for reading using an fstream object ?

‘ATXT agan eddlenas oo read oargomod, ifstream fin (“A.TXT); agp

@I@1@ open Dalgymny. fstream-6a} 60y object Qale@OuTla) MM ANV agsIBOM
0aled Salgoo ?

17. Ten country names and their capital names are stored in separatc files named ‘country’
' and ‘capital’ respectively. Assume that the names are stored in separate lines. Wnte a
program to read the files and print the output in the following format.

The capital of .. ((OUNtry name) . (Capital name) 5)

AIQD)  EORYEENASVle  CRAIVIHS MEITLOIMEBB)OSD)0  Cald)dUd  OINO(B:00
‘country’, ‘capital’ a0l anene:@lad av)@ailaflclee)an). qUOLIEHBAINS Galo)BHWD |
§GE0MM}e  (nic®Ydo ala:glend) qu)asilajlolemana’. @ aneenaswd Read
92100 apmlea Output mony oanlElemam oIololcd print 6aKg)s:.

The capital of (Countryn .zg?e) is .. (Capital nam‘t_:_)__m .

ORfms)%mﬂmﬁ

18. Some integers are stored in a file named ‘NUM.DAT’. Write a program to read the data
and store the even numbers in the file named ‘EVEN.DAT’ and odd numbers in the file
named ‘ODD.DAT’. 5)
‘NUM.DAT"  agm apweilsd )0a] integers qujasdlafigend. mar read oS
005 Toalyddd ‘EVEN.DAT o anweflene ag qvosuya:wd ‘ODD.DAT ogyam
an@eileno store Ha1gMEIIMBS B0) G0 af)PIOYd:.
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